
Soustraction Horizontale de Décimaux (D)

Calculez chaque différence.

556,390 − 364,36 = 751,546 − 74,12 =

61,8 − 9,5 = 8,5 − 7,370 =

696,2 − 69,3 = 11,1 − 1,1 =

434,370 − 5,169 = 75,21 − 46,4 =

823,93 − 293,294 = 263,5 − 71,46 =

626,51 − 621,018 = 580,5 − 2,2 =

54,15 − 49,2 = 911,075 − 70,364 =

9,1 − 6,593 = 40,7 − 7,7 =

38,4 − 7,701 = 356,7 − 5,3 =

989,629 − 711,15 = 212,1 − 43,54 =
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Soustraction Horizontale de Décimaux (D) Réponses

Calculez chaque différence.

556,390 − 364,36 = 192,03 751,546 − 74,12 = 677,426

61,8 − 9,5 = 52,3 8,5 − 7,370 = 1,13

696,2 − 69,3 = 626,9 11,1 − 1,1 = 10

434,370 − 5,169 = 429,201 75,21 − 46,4 = 28,81

823,93 − 293,294 = 530,636 263,5 − 71,46 = 192,04

626,51 − 621,018 = 5,492 580,5 − 2,2 = 578,3

54,15 − 49,2 = 4,95 911,075 − 70,364 = 840,711

9,1 − 6,593 = 2,507 40,7 − 7,7 = 33

38,4 − 7,701 = 30,699 356,7 − 5,3 = 351,4

989,629 − 711,15 = 278,479 212,1 − 43,54 = 168,56
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